
DU-RST-0008-25 Rev B 4/4/2022 GCX Corp. Page 1 of 3 

 

3875 Cypress Drive Petaluma, CA 94954  800.228.2555  707.773.1100 Fax 707.773.1180  www.gcx.com 

30 lbs 

13.6 kg 

Mx Weight 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

Installation Guide 
UPS Mount, VHRC/RC cart base  

(Fits all VHRC/RC carts with standard base, does not fit Slimline cart base) 

Max UPS size: 5 3/4”/14.6cm (W) x 18”/45.7cm (L) x 7”/17.8cm (H) 

Tools Required: 1/2" Socket Wrench (provided). 

Item # Description Qty 

1 Base Spacer 1 

2 Tray assembly with Velcro straps 1 

3 5/16-18 x 1 ¼ flange bolts 2 

4 5/16-18 x 5/8 hex bolts 3 

5 5/16 flat washers 3 

6 1/2" socket wrench 1 

 

Accommodates the following UPSs: 

Manufacturer Model   Dims (H” X D” X L”)         Weight Medical Grade 

PowerVar  ABCE420-11IEC  6.6 (16.7cm) x 5.5 (13.9cm) x 17.7 (44.9cm)  30lbs (13.6kg)           yes 

APC  SC650   6.6 (16.7cm) x 4.7 (11.9cm) x 14.5 (36.8cm)  27lbs (12.2kg)            no 

APC  SC420   6.6 (16.7cm) x 4.7 (11.9cm) x 14.5 (36.8cm)  22lbs (9.97kg)            no 

APC  SMT500/750  6.2 (15.7cm) x 5.4 (13.7cm) x 14.1 (35.8cm)  29lbs (13.1kg)            no 

APC  SUA500/750US  6.2 (15.7cm) x 5.4 (13.7cm) x 14.1 (35.8cm)  29lbs (13.1kg)            no 

 

3  

5  

4  1  

2  

6  

Parts Reference: The following parts and hardware are included with this installation kit. 

Lay cart down so bottom of cart base can be 
accessed. Remove and discard the (2) rear 
column flange bolts with a 1/2" socket wrench. 

Install base spacer using (2) 5/16 x 1 1/4” flange 
bolts. 

1 2 

Installation 

(2) 5/16-18 x 1 1/4” Flange Bolts 



DU-RST-0008-25 Rev B 4/4/2022 GCX Corp. Page 2 of 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Align the (3) mounting holes on the tray assembly 
with the corresponding (3) threaded mounting holes 
on the base spacer. 

Using a 1/2” socket wrench, secure the tray assembly 
to the base spacer with (3) 5/16-18 x 5/8” bolts and (3) 
washers. 

3 4 

Install UPS to tray, and secure with the (2) Velcro straps. 

5 



DU-RST-0008-25 Rev B 4/4/2022 GCX Corp. Page 3 of 3 

 

 

 

Routine Maintenance 
 
Periodically inspect all fasteners associated with the mounting system. Tighten or adjust fasteners as necessary for 
optimal operation and safety. 
 
Cleaning the Mounting Assembly 
 
1. The mounting assembly may be cleaned with most mild, non-abrasive solutions commonly used in the hospital 

environment (e.g. diluted bleach, ammonia, or alcohol solutions). 
 
2. The surface finish will be permanently damaged by strong chemicals and solvents such as acetone or trichloroethylene. 
 
3. Do not use Steel wool or other abrasive material. 
 
4. Damage caused by the use of unapproved substances or processes will not be warranted. It is recommended that you 

test any cleaning solution on a small area of the arm that is not visible to verify compatibility. 
 
5. Never submerge or allow liquids to enter the mounting assembly. Wipe any cleaning agents off of the arm immediately, 

using water dampened cloth. Dry the assembly thoroughly after cleaning. 
 
CAUTION: GCX makes no claims regarding the efficacy of the listed chemicals or processes as a means for controlling 
infection. Consult your hospital’s infection control officer or epidemiologist. To clean or sterilize mounted devices or 
accessory equipment, refer to the specific instructions delivered with those products.before installing the arm in the Channel.  


